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Questions 1 through 18 relate to Ethical & Professinal Standards

1.

Janice Hart is a research analyst serving Tigspgiates, an investment banking
firm. She has been asked to write a research repdBlue Inc. Time was the
chief underwriter of Blue Inc.’s stock when it handertaken an IPO two years
ago. In addition, two of Time’s directors continieehold a significant proportion
of Blue Inc. shares.

Hart's best course of action will be to:

A. decline writing the research report due to thegues of a conflict of
interest.

B. write the research report and disclose the spealaionship to clients on
a request basis.

C. write the research report and include a disclost@itke special
relationship between Time Associates and Blue Inc.

Correct Answer: C

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 2, LOSa

In order to comply with the standard relating teatbsure of conflicts Hart’'s best
course of action would be to write the researcloregind disclose the special
relationship between Time Associates and Blue Betng an underwriter in an
IPO represents a relationship that could thredtenrtdependence and objectivity
of the report writer.
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Wallace Associates is a sell-side researchiitin clients primarily from the
financial services sector. Midland Trust is Wall@ssociates’ most recent client.
Sarah Parker, a research analyst has been assiigledd Trust. Parker is
compensated with a basic research fee and ageahspivhich allow her to
purchase 2% of her client’'s common shares if theksperforms well. After
conducting thorough research using public soustes determines that a buy
recommendation will be most appropriate. She inetual small footnote at the
end of the report that discloses the volume andt&tkpn date of the options she
is eligible for.

According to the Standards of Practice HandbooKgd?as in:

A. violation because her disclosure is not prominent.

B. compliance because she has disclosed the extaet pharticipation in the
options.

C. violation because the acceptance of the agencgrapthay impair her
independence and objectivity.

Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb

The standard relating to disclosure of conflictguiees members and candidates
to disclose the volume and expiration date of aggnaoptions received.
Although Parker has complied in this regard, she igolation because she
should not have accepted options which were coatihgn the report’s
recommendation and have the potential to impaitiridependent and objective
judgment. She should have agreed to a flat fee only

Trisha Jose is a supervisor at a commercial .lfain& has been informed that
particular employee has been deliberately delagergling reminders to clients
whose accounts are overdue.
With respect to the employee, Jodeest course of action to take is:

A. dismissal.

B. issuing a warning.
C. suspension of responsibilities.
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Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb

The employee is violating his duty of loyalty tsmployer by not performing
his role as employee properly. Therefore, as sug@nrvJose must respond
promptly and conduct a thorough investigation ef algtivities to determine the
scope of the wrongdoing. Jose must also incregser@sion the employee’s
responsibilities pending the outcome of the ingzdion. Simply warning or
dismissing the employee is not considered the gy@te course of action
according to the Code and Standards.

An investment manager notifies clients of a ¢gfegaim recommendation via email.

He then calls three of his oldest clients to disdhe change in greater detail. Not
all his clients receive the recommendation at mestime and are unhappy with

the delay in notification.

Has the investment manager dealt with his cliesit$yf?

A. Yes, he is only required to ensure each clierdiityfdealt with.

B. No, he should have discussed the recommendatigreater detail with
all his clients.

C. No, he should have ensured each client receivecett@nmendation at
the same time.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSa

Members and candidates are required to deal wihtsland prospects fairly and
objectively when making investment recommendatitaisng investment action
or engaging in other professional activities. Hoarethe manager is not required
to ensure that each client is dealt with equallyalse it is not possible to reach
all the clients at the same time. Furthermore,eshne has sent the investment
recommendation to all his clients, discussing fjieater detail with a select few
does not constitute a violation.
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According to the Standards of Practice Handbaaknvestment manager who
learns that his client is engaged in an illegalvégtshould:

A. seek legal counsel.
B. inform legal authorities.
C. disclose the activity to the CFA Institute.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSa

An investment manager who learns that his clieethigaged in an illegal activity
should inform their supervisor of the activity aogether they can work to
remedy the violations. If that does not prove sasfid, the investment manager
and his supervisor should seek the advice of d teasel to determine the
appropriate steps to take.

Disclosing an illegal activity to legal and regualigt authorities is considered a
violation of the Code and Standards unless disobosurequired by law.
Similarly, members and candidates cannot discloaéidential client information
to the CFA Institute unless permissible under {haieable law.

Joyce & Monroe (J&M) is an investment bank withown research division.
Investment banker Ron Howard serves J&M and hamtlcarranged corporate
financing for its client, Westdale Limited. Westelalill be using the financing to
expand production to Australia. Several weeks 1a&’s chief research analyst
issues a research report on Westdale wherein benreends, “Westdale’s
decision to expand into Australia is an excelleovenbecause the potential
market for its products should be vast. | am exéigonfident that the company
will see a remarkable and positive difference sneiirnings over the coming
months. Based on this, | recommend a strong BUX.£akding to the Standards
of Practice Handbook, the analyst’s recommendasionost likely in violation
with respect to the standard concerning:

A. misrepresentation; he is guaranteeing investmeafanpeance.

B. disclosure of conflicts; he has not disclosed J&kigationship with
Westdale.

C. communication with clients and prospects; he hdsddo separate
opinion from fact.
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Correct Answer: B

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 2, LOSb

The analyst’s recommendation is not in complianth e Code and Standards
as he has not disclosed J&M'’s relationship with Wale. By arranging corporate
financing, J&M'’s relationship with the manufactuweitl be long-term and should
be disclosed on each report sent to clients ansppas. Failing to do so may
give clients the impression that the relationshipairs the analyst’s independent
and objective judgment.

The analyst is not in violation of the standaratiely to misrepresentation
because he has not made any attempt to guarantesstrirent performance. The
statement, ‘Il am extremely confident that the conypaill see a remarkable and
positive difference in its earnings over the conmmgnths.’ provides evidence
that is making a projection with no attempt to makg guarantee.

The analyst is not in violation of the standaratiely to communication with
clients and prospects; he has separated opiniamfrot. His recommendation is
based on an opinion of the potential market for Méde’s products; using the
terms ‘should be vast’ provides evidence that haising his opinion.

According to the Standards of Practice Handbadkguate compliance
procedures arkeast likely those that:

A. meet industry standards.
B. are uniform on a global basis.
C. can be tailored to the circumstances of a firm.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSa

The Code and standards define adequate compliaacedures as those that
meet industry standards, regulatory requiremeatgjirements of the Code and
standards, and the circumstances of the firm. Bglolgally uniform is not a
requirement.
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When managing pooled assets to a specific mandaestment manager ('s):

A. actions are not governed by the suitability staddar
B. must consider the suitability of an investmentdients.
C. need not consider the suitability of an investnfentlients.

Correct Answer: C

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSa

When managing pooled funds to a stated mandatestment managers need not
consider the suitability of the investment for thasvesting in the fund. The
responsibility of determining the suitability of awvestment for a client lies on
those members and candidates who have an advaationship with clients.

However, the actions of members and candidatasvastment managers
continue to be governed by the suitability stand@itey are required to “make
investment decisions and take investment acticaisaife consistent with the
stated objectives and constraints of the portfolio”

Which of the followingmost likely to be the key feature of GIPS standards?
GIPS standards:

A. rely on the integrity of input data.
B. address every aspect of performance measurement.
C. have evolved over time to focus primarily on return

Correct Answer: A

Reference:
CFA Leved |, Volume 1, Study Session 1, Reading 4, LOSa

One of the key features of GIPS standards inclhdethe GIPS rely on the
integrity of the input data.

The GIPS standards do not address every aspeetfofmance measurement.

Historically the GIPS standards focus primarilyreturns but the standards
evolved overtime to address additional areas afstment performance.
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Nelson Won, CFA, is a tax advisor at a finalnegavices firm. His recent article,
on how tax minimization strategies can be effetyiv@plemented for client
portfolios with high tax brackets, has increasedgupularity in the industry.
Won is offered to deliver a lecture on tax minintiaa strategies to employees of
an investment management firm in New Zealand. The dffers to pay for his
travel expenses and hotel accommodation. Won axtepiffer, informs his
employer, and travels to New Zealand with the fuify paid by his employer. At
the conclusion of the lecture, Won is invited tgaane of golf at an exclusive club
by the senior investment manager. He accepts teearid informs his supervisor
of the invitation upon his return. According to tBandards of Practice
Handbook, Won is most likely:

A. inviolation; he should have paid for the New Zedl&ip out of his own
pocket.

B. in violation; he did not seek written permissioopto accepting the golf
game offer.

C. in compliance; details of the golf game were ndilable to him before
departing for New Zealand.

Correct Answer: C

Reference:
CFA Leve |, Volume 1, Study Session 1, Reading 2, LOSa

By asking his employer to pay for his trip and d@og the investment
management firm’s offer, Won has taken the necgsdaps to avoid the
appearance of any potential conflicts of interest.

Details of the golf game were not available to VWefore his departure to New
Zealand and so disclosing the details after higrmas the most appropriate
course of action. Won'’s actions are in compliangé tihe Code and Standards
with regard to both his decisions.

Conduct that constitutes a violation of the AR#titute Standards of Professional
Conduct concerning ‘Conduct as Members and Carelidatthe CFA Program’
includes:

A. cheating on an MBA exam.

B. soliciting employer clients prior to departing.
C. not following security measures implemented for @A exam.

FinQuiz.com © 2015 - All rights reserved. 9



12.

CFA Level | Mock Exam 6 — Solutions (PM)

Correct Answer: C

Reference:
CFA Leved |, Volume 1, Study Session 1, Reading 2, LOSb

Out of the three options presented, option C cpoeds to conduct that violates
the standard in question.

Option A is incorrect. Conduct that constitutedatimn includes cheating or
assisting others to cheat on a CFA exam or any @R4 Institute exam; the
standard does not address cheating on exams h#rethte aforementioned.

Option B highlights conducts that represents aatioh of the standard
concerning loyalty to employer.

Fredric Hart has shifted to Trust ManagemennfRightway Investments, both
of which are brokerage firms providing asset adyiservices. At Trust
Management Hart prepares a brief introductiondetteere he highlights the type
of accounts and asset classes he managed as wedl performance results
achieved at Rightway. Hart’s first client at Trikhnagement is Denver Sports
Inc. He will be responsible for managing the cligepension plan. After
conducting a suitability analysis, Hart determittest direct real estate is a
suitable asset class and makes an allocation bhsmgcision on the following
three reasons: 1) Denver has low liquidity neejiféhver has a long-time
horizon and 3) Denver is in a low capital gainshexcket.

According to the Standards of Practice of Handbstakt ismost likely in
violation of the standard concerning:

A. loyalty to employer; he has divulged confidentiaspemployer
information.

B. loyalty, prudence and care; he has not acted ibéiseinterests of his
clients.

C. client confidentiality; information concerning aeot types is considered
confidential information.

Correct Answer: B

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 2, LOSb
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Hart is in violation of the standard concerningdtty, prudence and care by
failing to consider whether the real estate allioceis suitable for the plan
participants. His ultimate clients are the plartipgrants and not Denver Sports.

Hart is not in violation of the standard concernamgployer loyalty. He can
present his past performance at Rightway Investsnenthe employees of Trust
Management as long as he clearly discloses thathieved the performance at
his former employer. Information concerning pastgrenance track record is not
considered confidential.

Hart is not in violation of the standard concernatignt confidentiality as
information concerning account type and asset etassgeneral information
related to the skills of the manager.

Marie Thatcher serves the CFA Institute Bodr@avernors, which is
responsible for the oversight and responsibilitythe Professional Conduct
Program. She also manages the investment portfolissveral friends and
family members. In a discussion with one of heermts, Thatcher states, “As a
board member, | will take additional steps to eashat your interests are looked
after and violations of the Code and Standardsiaoeded at all costs.
Furthermore, as your portfolio manager | will bgkap-to-date with the latest
developments of and revisions in the Code and &tasd

Thatcher’s statement isost likely:
A. inviolation; she is guaranteeing client accounfgrenance.
B. in compliance with the CFA Institute Standards aifEssional Conduct.
C. inviolation; she is using her association with @A Institute to further
professional goals.

Correct Answer: C

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 2, LOSb
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Thatcher’s statement is in violation of the staddasncerning Conduct as
Members and Candidates of the CFA Program as shwplging that as a
member of the CFA Institute Board of governors ish& unique and superior
position when ensuring compliance with ethical deads.

Thatcher is not attempting to guarantee client aetperformance. In fact, her
position allows her to stay abreast the latest ldgveents in the Code and
Standards, which she can apply when managing @enfolios.

Two investment managers engaged in a debdtqulekly turned into a conflict
disrupting the working environment of their fellmo-workers.

Which of the following hasnost likely been violated?

A. Code of Ethics only.
B. Standards of Professional Conduct only.
C. Both Code of Ethics and Standards of Professionad@ct.

Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 1, Reading 1, LOSc

Both the Code of Ethics and Standards of ProfeakiGaonduct are being

violated. The Code of Ethics is being violatedhasihvestment managers are not
acting in a respectful manager towards each otmetleeir colleagues as well as
their employer; disrupting the concentration of ek environment is an act of
disrespect. Furthermore the two managers are latioa of the standard
concerning misconduct as engaging in a conflict@stlirbing colleagues will
adversely reflect on their professional reputation.

In order to comply with the CFA Institute CaafeEthics, members and
candidates must:

A. promote the integrity of the legal system.

B. maintain their duty of loyalty towards clients, ppects and employers.

C. place the integrity of the investment professioovattheir own personal
interests.

Correct Answer: C
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Reference:
CFA Level I, Volume 1, Study Session 1, Reading 1, LOSb

In order to comply with the CFA Institute Code dhiEs, members and
candidates must, amongst other actions:

» place the integrity of the investment professioowabtheir own personal
interests and
» promote the integrity of and uphold the rules gousy capital markets.

The duty to maintain loyalty towards clients, prests and employers falls under
the Standards of Professional Conduct.

Which of the following statemeriesast likely highlights a benefit of claiming
compliance with GIPS standards?

A. GIPS standards eliminate the need for the inveéstoonduct in-depth due
diligence.

B. Investment managers can assure clients that tloeteglphistorical track
record is complete.

C. Prospective clients can easily compare the perfocamaf their
investment managers across different firms.

Correct Answer: A

Reference:
CFA Leved I, Volume 1, Study Session 1, Reading 3, LOSa

Compliance with the GIPS standards does not elitaitiee need for the investor
to conduct in-depth due diligence.

The benefits of claiming compliance with the GIR&sdards include:

* Investment managers claiming compliance can astierds that the
reported historical track record is complete andyfpresented.

» Investors have more confidence in the integritg performance
presentation as prospective clients can comparpdtiermance
presentations from different investment managerfiens.
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Hollard Associates manages two funds, a difredsiund and a fixed-income
fund. The diversified fund is three years old while fixed-income fund is as old
as the firm (five years old). The performance rdsaf both funds are GIPS-
compliant. The firm is now considering claiming qarance to the GIPS
standards. Which of the following statememisst accurately highlights what
Hollard Associates should do in order to claim cbamze?

Hollard Associates should:

A. wait for at least two years to claim compliance.

B. only claim compliance for the fixed-income fund.

C. can claim compliance by presenting performanceeshath composites’
creation dates.

Correct Answer: C

Reference:
CFA Level I, Volume 1, Study Session 1, Reading 4, LOSb

Hollard Associates can claim compliance by presgn@IPS compliant
performance since the composites’ inception détese years for the diversified
fund and five years for the fixed income fund. T3S standards require firms
to initially present five years of annual investrhparformance that is compliant
with the GIPS standards. Should the firm or contpdse in existence for less
than five years, the firm must present performasigee the firm’s inception or
composite’s inception date.

Hollard Associates cannot partially claim compliary claiming compliance for
the fixed-income fund.

Which of the following is not a section of tGébal Investment Performance
Standards?

A. Hedge funds
B. Private equity
C. Wrap fee portfolios

Correct Answer: A
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Reference:
CFA Level |, Volume 1, Study Session 1, Reading 4, LOSd

Out of the three options listed, ‘hedge funds’a$ one of the sections found
within the provisions of the Global Investment Periance Standards.

FinQuiz.com © 2015 - All rights reserved.
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Questions 19 through 32 relate to Quantitative Metbds
19. A limitationmost likely associated with IRR is that it:

A. is sensitive to the external discount rate.

B. it does not represent an achievable rate of retaran investment.

C. cannot be calculated for projects with an unconweeat cash flow
pattern.

Correct Answer: B

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 6, LOSb

A limitation of the IRR method is that it assumieattall project cash flows are
invested at the IRR, which is an unrealistic assionpgiven the tendency of
interest rates to change. Therefore the IRR cap@aissumed to represent an
achievable rate of return.

The IRR estimate and IRR rankings are not affebtedny external interest or
discount rate because a project’s cash flows d@terthe internal rate of return.

The IRR can be calculated for a project with anamventional cash flow pattern
as demonstrated below:

Cko=-45,000; Ck=12,000; Ck= - 57,805; CE= 61,000; Ck= 400,000
IRR =72.12%
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20. Tara Gibbons would like to ensure she livesfooiably during her retirement,
which will commence thirty years from now. Her firigal manager, Raul
Peterson, advises that she should save a fixedrdgreaah year for the next
twelve years and determines that her savings wilvgo $45,155 by the end of
the twelfth year if she does so. Peterson alsaméates that the present value of
the funds required for retirement will amount t&8B78 att = 12. Funds are
invested to generates 6% annual rate of return.

For the savings to grow from $45,155 to $250,878pGns will need to make an
annual investment of:

A. $19,000.
B. $19,635.
C. $35,042.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 2, Reading 5, LOSe

We need to determine the amount of savings perfyaart = 13 to t = 30.
Ont =12, Gibbons would have saved $45,155. Tli@iadal amount of total
savings required for retirement is $205,723 ($2688 $45,155).

The annuity payment is determined as follows:

PV = $205,723
r=6% =0.06
N =18
1 a 1
N 18
Present value annuity factor|= (1+ r) = (1300606) =10.8276
r !

A = PV/Present value annuity factor
= $205,723/10.826 =$18,999.8646 or approximakés,000

21. A desirable property of an estimator includes:
A. consistency.

B. universality.
C. independence.
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Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 3, Reading 10, LOSg

Desirable properties of estimators include unbiases, efficiency, and
consistency.

Mona Patel has invested a portion of her savim@ fund with a stated annual
rate of 4%, which is compounded quarterly.

If Patel's fund was continuously compounded, thedfs stated annual rate of
return would have beathosest to:

A. 3.98%.
B. 4.00%.
C. 4.06%.

Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 5, LOSc

A stated annual rate of 4% is equivalent to an EAR.06%
To convert to continuously compounded rate of retuN (1+4.06%) = 3.98%

Which of the following cycles imost likely a component of the Kondratieff
Wave?

A. 18-year cycle
B. Presidential cycle
C. Decennial pattern

Correct Answer: A

Reference:
CFA Leve [, Volume 1, Study Session 3, Reading 12, LOSf

Three 18-year cycles make up the longer 54-yeadkaiieff Wave.
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24. The National Fund is managed by Douglas Welblhsansed to finance equity
purchases on behalf of firm client accounts. Thalakbelow demonstrates the

25.

movement in the fund over a four year period:

1($) 2 (%) 3(%) 4(%$)
Beginning value,  5,000,00( 6,250,000 8,120,000 11D
Investment 1,000,000 2,250,000 1,050,000 (2,000,000
Ending value 6,250,000 8,120,000 11,050,000  9,2®0,0

The annualized time-weighted rate of return forNational Fund i€losest to:

A. 16.56%.
B. 23.74%.
C. 38.15%.

Correct Answer: B

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 6, LOSd

Y1 HPR: ($6,250,000 + $1,000,000 — $5,000,000)/3%,@00 = 0.450

Y2 HPR: ($8,120,000 + $2,250,000 — $6,250,000)/4®,@00 = 0.659

Y3 HPR: ($11,050,000 + $1,050,000 — $8,120,000)/88,000 = 0.490

Y4 HPR: [$9,230,000 + (- $2,000,000)] — $11,050)¢8101,050,000 = - 0.346
Time-weighted return = [(1.450)(1.659)(1.490)(0.854— 1 = 0.2374 or 23.74%

Howard Briggs is conducting a hypothesis testdtermine whether the
difference in mean returns between two asset dasstatistically significant.
Briggs is using a 95% confidence interval. A demisio decrease the level of
confidence to 90% wilinost likely:

A. increase the probability of a Type I error.
B. increase the probability of a Type Il error.

C. decrease the probability of a Type | and Typetber

Correct Answer: B
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Reference:
CFA Level I, Volume 1, Study Session 3, Reading 11, LOSc

Since the confidence interval is measured as gjrifgiance level, decreasing the
level of confidence will increase the level of sigrance. The significance level
measures the probability of incorrectly rejectihg hull (Type | error); therefore,
increasing this level will increase the probabibifya Type-I error. Put
differently, the probability of a Type-II error deases (the probability of
incorrectly failing to reject the null).

A portfolio is fully invested in an index furtichcking the S&P500. The returns
earned by the index over the past three yearsiginédhted in the exhibit below:

S&P 500 Equity Index (%)
Year 1. Return 18.5
Year 2: Return 15.1
Year 3: Return 22.2
Mean Return 18.6
Sample variance 3.6

The portfolio’s coefficient of variation idosest to:
A. 0.10.
B. 0.19.
C. 5.17.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 2, Reading 7, LOSi

Coefficient of variation =5/R = 1897 /186 = 0.101989

When a short term moving average crosses flmweathe longer term moving
average it is called a:

A. dead cross.

B. golden cross.
C. neutral cross.
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Correct Answer: A

Reference:

CFA Leve I, Volume 1, Study Session 3, Reading 12, LOSe

When a short term moving average crosses from ath@vinger term moving
average the movement is considered to be bearéisaalled a dead cross.

When a short-term moving average line crosses troderneath a longer-term
average, the movement is considered bullish andlisd a golden cross.

28. Lindsay Thomas, an independent investor, has fidlowing the price of a stock
for the previous eight months observing a headstwodliders pattern. After
peaking at $67, Thomas forecasts a decline in giraoe. She estimates the
neckline at $50. The closing price of the stocthatend of the current trading
day is $59.

If Thomas undertakes a short sale, her expectdd prothe transaction will be
closest to:

A. $9 per share.
B. $26 per share.
C. $33 per share.

Correct Answer: B

Reference:
CFA Level I, Volume 1, Study Session 3, Reading 12, LOSd

Based on the observed head and shoulders patierprite target is $33
(calculated below):

Price target = Neckline — (Head — Neckline) = $5867 — $50) = $33

If Thomas sells the stock short at the closinggat$59 and closes the short
position at $33, she can earn a profit of $26.

29. Priori probabilities are based on:
A. logical analysis.

B. data from prior periods.
C. relative frequencies of occurrence.
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Correct Answer: A

Reference:
CFA Leve I, Volume 1, Study Session 2, Reading 8, LOSb

Priori probabilities are based on logical analyatber than on observations or
personal judgment. Empirical probabilities areraated as a relative frequency
of occurrence based on historical data.

Walsh Enterprises, a web based books deliwstems, has been in existence for
30 years and always maintained an inventory tummate of 140 times. Using
inventory information from the firm’s inception, {eYoung estimates Walsh
Enterprises’ annual mean inventory turnover rasid 30 times with an annual
population standard deviation of 50 times. Youngtismpting to determine
whether the slowdown in inventory movement is staally significant. She is
using a 90% confidence interval for her analysis.

Young will most likely conclude that the slowdown in inventory movement
(assuming normal distribution) is:

A. statistically insignificant.
B. statistically significant; the mean ratio excedus higher critical value.
C. statistically significant; the mean ratio falls &l the lower critical value.

Correct Answer: A

Reference:
CFA Level I, Volume 1, Study Session 3, Reading 11, LOSg
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Since the population mean and standard deviatekraswn, a z-test will be used
to conduct hypothesis testing.

Using a 10% significance level, the upper and loregection points are + 1.645
and — 1.645. The null hypothesis is rejecteddkeitlines below — 1.645 and
Thomas will conclude that the inventory slowdowsstigtistically significant.

The z-test statistic is calculated as follows:
_ X =y _ 130-140 — _0.0365
oln 50430

z

Since — 0.0365 is greater than — 1.645, the nydbthesis is not rejected and
Thomas will conclude that the slowdown in inventtusnover is not statistically
significant.

A financial analyst is evaluating the liquidggsition of a manufacturing concern.
For the purposes of analysis, he has compiled wafioancial measures such as
the cash, quick and current ratios and cash operaticles over a ten-year
period. The data used by the analystwas likely be classified as:

A. panel.
B. time-series.
C. longitudinal.

Correct Answer: C

Reference:
CFA Leve I, Volume 1, Study Session 3, Reading 10, LOSd

The analyst is using longitudinal data; all hisetvations are measures of
liquidity and are related to the same manufactucoigcern. Longitudinal data

consist of observation (s) of the same observatiomathrough time.

Panel data consist of observations through tima single characteristic of
multiple observational units.
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32. Which of the following isnost likely a step in hypothesis testing?
A. Stating the confidence level
B. Identifying the sampling error
C. ldentifying potential sampling biases

Correct Answer: A

Reference:
CFA Level |, Volume 1, Study Session 3, Reading 11, LOSa

Out of the three options presented, hypothesisigedbes not include identifying
potential sampling biases and sampling errors.

Stating the confidence interval (or put differentiyating the significance level) is
one of the steps executed during hypothesis testing
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Questions 33 through 44 relate to Economics

33. Grace Corp. is seeking to expand its existnoglyction facilities. Its
management is debating on whether to automate ptiodwor maintain manual
procedures. Automation will require purchasing niaety units while manual
procedures will require employing additional labbine projected marginal
product per day and price of each factor for thet four months following
expansion is illustrated in the exhibit below:

Exhibit
Month | Marginal Product Price of Input
per Day ($ per unit of input)
Labor | Machinery Labor| Machinery
1 200 600 100 245
2 320 760 100 245
3 400 820 120 250
4 480 1,080 110 255

Given the independence of the two decisions, dukinigh month will Grace
favor manual over automated procedures?

o>
A WN

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 5, Reading 15, LOSk

Grace Manufacturing will favor a manual over auttedgroduction process
when the marginal product per monetary unit of trqmst of labor exceeds that of
machinery. This occurs during the second monthalsulated in the table below.

Month MPBhnpud Pric@nput
Labor Machinery

1 2.00 2.45

2 3.20 3.10

3 3.33 3.28

4 4.36 4.24
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34. Excess demand and supply in the automobilgsinglis given by the following

35.

respective equations:

Q"¢ = 15,000 — 300P
Q's=-2,000 + 400pP

There will be excess demand if the unit price aheautomobile is:

A. less than $24.29.
B. less than $130.00.
C. greater than $24.29

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 13, LOSh

Equilibrium is reached when the demand and suppigtfons intersect; this
occurs at a price of $24.29.

15,000 — 300p= - 2,000 + 400p

P« = 17,000/700 = $24.29

Demand will exceed supply if the unit price of artaanobile is lower than the
equilibrium price of $24.29. For instance, when tiné price is $24.00 demand
and supply is 7,800 and 7,600 units, respectivadythere is an excess demand of
200 units.

Which of the following competitive market sttuies ismost likely characterized
by a large number of potential buyers and sellevg barriers to entry, and firms
with pricing power?

A. Oligopoly

B. Perfectly competitive

C. Monopolistically competitive

Correct Answer: C

Reference:
CFA Leve 1, Volume 2, Study Session 4, Reading 16, LOSa

FinQuiz.com © 2015 - All rights reserved. 26



36.

CFA Level | Mock Exam 6 — Solutions (PM)

When markets are monopolistically competitive, ¢hare a large number of
potential sellers and buyers, the market has lawdya to entry, and all firms
have some pricing power. In perfectly competitivarkets sellers have no pricing
power. Oligopoly market structures are charactdrlaehigh barriers to entry and
exit.

The economic activity in a developing countag Istarted to accelerate resulting
in higher domestic inflation. In order to maintés exchange rate target, the
government’s actions withost likely lead to a (n):

A. increase in domestic money supply.
B. decrease in foreign currency reserves.
C. decrease in the cost of short-term borrowing.

Correct Answer: B

Reference:
CFA Level 1, Volume 2, Study Session 5, Reading 19, LOSk

In trying to maintain the exchange rate target,gbreernment will need to sell
foreign currency reserves, thereby decreasingvesegand buy domestic
currency. This will have the effect of reducing destic money supply and raising
short-term interest rates (cost of borrowing).
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37. A South African company undertook the followingnsactions, translated into
the South African Rand (ZAR), in the financial y@ai3:

* Borrowed ZAR 50 million from a U.S. bank

* Purchased machinery worth ZAR 1.4 million from Japa

* Received ZAR 2.5 million interest income on Dutotel income
investments

* Issued ZAR 0.5 million worth of its corporate boridsan investor in
Brazil.

» Acquired financial leases worth ZAR 1.1 million thg the year.

» Total sales proceeds received on foreign sales aredwo ZAR 48.8
million.

The total value of the transactions reflected achrrent account dosest to (in
ZAR millions):

A. 51.3.
B. 51.8.
C. 99.3.

Correct Answer: A

Reference:
CFA Leve 1, Volume 2, Study Session 6, Reading 20, LOSg

The value of the transactions reflected in theantraccount balance is ZAR 51.8
million ZAR (2.5 + 48.8) million.

Foreign borrowing, debt issues, and purchase ohmaxy are all transactions

reflected in the financial account while the acdign of leases is reflected in the
capital account.
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Grace Singh is a research analyst based inalastShe is attempting to forecast
exchange rate movements using data collected iaxhibit:

Expected Spot Rate
Spot rate in One Year
AUD/GBP 1.8255 1.8010
GBP/EUR 0.8141 0.8350
GBP/MXN 0.0460 0.0602

Based on the data in the exhibit, the expectedeapgiron in the EUR against the
MXN over the next year islosest to:

A. —21.63%.
B. +2.57%.
C. +34.23%.

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 6, Reading 21, LOSd

MXN/EUR (Spot) = 0.8141 x (1/0.0460) = 17.6978
MXN/EUR (Expected) = 0.8350 x (1/0.0602) = 13.8704
Percentage change in MXN/EUR = (13.8704/17.6978=-121.63%
Firms operating in perfectly competitive maskeill maximize profits if:
A. total revenues at least cover total costs.
B. marginal revenues exceed marginal costs.
C. total revenues at least cover variable costs.

Correct Answer: A

Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 15, LOSh

A firm operating in a perfectly competitive marketl maximize profits if total

revenue is greater or equal to total costs, thédoth fixed and variable costs are
covered and marginal revenues equal to margin&.cos
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40. A-Tech is the sole software developer in itgntoy’s market. The total revenue,
marginal revenue and cost functions of the develapeas follows:

Total revenue = 1,5006- 12.5Gp
Marginal revenue = 1,500 — 25Q
Marginal cost = 650 + 10§

A-Tech’s profit will be maximized if its level ofuiput equals:

A. 2 units.
B. 24 units.
C. 57 units.

Correct Answer: B

Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 16, LOSd

Profit will be maximized when marginal revenue dgumaarginal cost. This will
occur when the level of output is equal to 24 u(gee below).

1,500 — 25Q = 650 + 10Q@
850 = 35Q

Qb = 24.2857 units or approximately 24 units
41. Green Alliance operates in an industry in wkaohncrease in product demand

has led to an increase in short-run economic prdfibst of production has
increased as a consequence of an increased deorareddurces by companies
entering the industry. The recent industry charigae forced industry
participants to revise product prices upwardsghtliof output expansion.
The slope of Green Alliance’s supply curve in ttied run ismost likely:

A. flat.

B. positive.

C. negative.

Correct Answer: B
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Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 15, LOSi

The slope of Green Alliance’s long run supply cuisrepward sloping. Higher
production costs due to larger number of competigmtering the industry imply
that market prices must rise to cover input costslyicing a positive slope.

Which of the following factors withost likely influence the success of a
collusive agreement?

A. Degree of regulation
B. Severity of retaliation
C. Availability of substitutes

Correct Answer: B

Reference:
CFA Level 1, Volume 2, Study Session 4, Reading 16, LOSf

Among the listed factors, only the strength of lrateon has the potential to
influence the success of a collusive agreemergopblists will be less likely to
break the agreement if the threat of retaliatiorother firms in the market is
severe.

The sustainable growth rate of potential GD&alsulated as the sum of the
growth rates in labor, capital and:

A. real GDP.
B. technology.
C. natural resources.

Correct Answer: B

Reference:
CFA Level 1, Volume 2, Study Session 5, Reading 17, LOS|

The sustainable growth rate of potential GDP isaétpthe sum of growth rates
in technology, labor, and capital.
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In December 2011 the value of the Fisher ard¢ree index was 115.6 and 125.1
respectively. The value of the price index whendtvesumption basket is held
constant waslosest to:

A. 106.82.
B. 120.26.
C. 135.38.

Correct Answer: A

Reference:
CFA Leve 1, Volume 2, Study Session 5, Reading 18, LOSg

The price index when the components of the consiompiasket are held
constant is known as the Laspeyres’ index (I

Fisher index =/1 / x1,

L = (115.6§ + 125.1 = 106.82
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Questions 45 through 68 relate to Financial Repontig and Analysis

45.

46.

An equity investor is utilizing the followingetrics to screen stock investments:

 P/BV <0.69.
» Dividend yield> 3.5%
* NI/Sales>15%

Given the screening criteria, the equity invessanast likely a:
A. Value investor.
B. Growth investor.
C. Market-oriented investor.

Correct Answer: A

Reference:
CFA Level I, Volume 3, Study Session 10, Reading 34, LOSg

A low P/BV ratio and a high dividend yield is ardication of value investing.

TS Associates issues $1,000,000 face valusnejear bonds dated January 1,
2010. The total interest expense on the bond$oten-year period is $653,123
while the annual coupon rate is 6%. Using the giitaline method, the interest
expense for the fiscal year 2012 liesest to:

A. $54,877.
B. $60,000.
C. $65,312.

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 32, LOSb
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Total interest payments = $1,000,000 x 6% x 10 G0$BO0

Given that total interest expense exceeds intpagsnents, the bonds are issued
at a discount of $53,123 ($653,123 — $600,000).diseount would be amortized
by $5,312 ($53,123/10) each year under the strdilghhimethod. Annual interest
expense is thus equal to $65,312 ($60,000 + $5,312)

Which of the following ratios willeast likely be affected by company’s choice
of the fair value over cost model for reportingdeived assets (assuming fair
value is always higher than carrying value) overltng-term?

A. Debt-to-equity
B. Interest coverage
C. Cash flow to revenue

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 30, LOSg

A company'’s decision to choose one reporting mogel the other in the case of
long-lived assets will affect the debt-to-equitfisaand return on assets ratio but
not the cash flow to revenue ratio. Revaluatiomgair losses and the associated
depreciation charges do not impact cash flows wemees.

Interest coverage ratio will be higher if the cosidel is used provided fair value
always exceeds carrying value and consecutivelgases; this is because
depreciation charges will be lower for the latéetower depreciation charge
translates into higher operating profit and inteceserage ratio. The debt-to-
equity ratio will be affected as all revaluationdl Wwe recorded as part of the
revaluation surplus in equity.
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48. OnJanuary 1, 2012 TRX Associates purchasednpanent. Tim Rubin, TRX
Associates’ chief financial analyst, is of the optthat the component’s balance
sheet value may need to be reduced. Rubin collelgtgant financial information
in the exhibit below:

Exhibit: Relevant Financial Information for the Com ponent

Carrying amount £423,000
Undiscounted expected future cash flows £420,000
Present value of expected future cash flows £415,00
Fair value £455,000
Costs to sell £28,000

If TRX prepares and presents its financial statesmgnaccordance with IFRS,
Rubin ismost likely:

A. Incorrect.
B. correct; the component will be valued at £415,000.
C. correct; the component will be valued at £420,000.

Correct Answer: A

Reference:
CFA Level |, Volume 3, Study Session 9, Reading 30, LOSh

Under IFRS, an asset is impaired if the carryingam of the asset exceeds its
recoverable amount with the latter equal to thééigf fair value less costs to
sell and value in use (present value of expecteddicash flows).

Fair value less costs to sell = £455,000 — £28:068827,000
Given that fair value less costs to sell is highan present value of expected
future cash flows, value in use will equal to £400. The component is not

considered impaired because the value in use aédegrthan the carrying amount
of £423,000. Therefore, the component’s value moll be reduced.
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The notes to a company’s financial statemestdabe the present value of lease
payments relating to the next five years as $35,088se payments concern an
operating lease,which the company had enteredwug/ears ago. If the
company’s total assets and equity are $450,00%360d,000, respectively, the
debt-to-equity ratio after capitalizing the effettthe lease transaction equals:

A. 50.0%.
B. 61.7%.
C. 74.4%.

Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 32, LOSi & |

Total debt (before including lease payments) = $a3@0— $300,000 = $150,000
Debt-to-equity ratio (including lease payments$+50,000 + $35,000)/$300,000
=61.67%

One of Silvex Corp.’s assembly machines waalued upwards giving rise to
deferred tax effects. The company wibst likely classify the associated tax
effects as an adjustment to total:

A. assets.

B. equity.

C. liabilities.

Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 31, LOSh

Since the revaluation is classified in equity (ag pf revaluation surplus) the
associated deferred taxes will be recognized astddjustments to total equity.
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51. An analyst has collected information for twonganies in the paint
manufacturing industry, Violet and Technard.

Exhibit: Selective Financial Information for
Violet and Technard

Violet Technard
ROE 14.5% 13.3%
Asset turnover 1.6 1.8
EBIT margin 7.7% 6.1%

Which of the following reasongost likely justifies why Violet has a higher
ROE? Higher:

A. efficiency.
B. return on assets.
C. financial leverage.

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 28, LOSd

Technard reports higher financial leverage (seeviednd so Violet’s higher
ROE cannot be attributed to this measure.

ROE = ROA x Financial leverage
Financial leverage (Violet) = 14.5%/12.32%* = 1.18
Financial leverage (Technard) = 13.3%/10.98%* 41.2

Relative to Technard, Violet reports lower effiaigr(as measured asset
turnover); therefore, higher return on equity carbwattributed to this factor.

Violet's higher return on equity can be attributedhigher return on assets (see
below).

*Return on assets = Asset turnover x EBIT margin

Return on assets (Violet) = 1.6 x 7.7% = 12.32%

Return on assets (Technard) = 1.8 x 6.1% = 10.98%
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52. The write-off of a particular account receivald reflected by reducing:
A. bad debt expense.
B. sales returns and allowances.
C. allowance for doubtful accounts.

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 8, Reading 26, LOSd

The write-off of an accounts receivable is reflddby reducing allowance for
doubtful accounts and accounts receivable by theesamount. The other two

accounts, bad debt expense and sales returnslandiates, are not affected.

53. TSO Limited reported the following informatiéor the fiscal year 2013:

Exhibit
Beginning retained earnings $45,550
Cash dividends paid $1,200
Equity $85,350
Contributed capital $36,155
Operating income $7,520
Taxes paid $2,140

Based on the information presented, reported meime for 2013 islosest to:
A. $2,445.
B. $4,845.
C. $5,380.

Correct Answer: B

Reference:
CFA Leve I, Volume 3, Study Sessions 7 & 8, Readings 23 & 27, LOSb & d
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Ending retained earnings = Assets — Liabilitiesonttibuted capital or,
Ending retained earnings = Equity — Contributedteap $85,350 — $36,155 =
$49,195

Cash dividends paid = Beginning retained earninetincome — Ending
retained earnings
Net income = $1,200 — $45,550 + $49,195 = $4,845

According to the Conceptual Framework’s quailieacharacteristics of financial
reports, information that is materially misstateahot:

A. relevant.
B. consistent.
C. faithfully represented.

Correct Answer: A

Reference:
CFA Level I, Volume 3, Study Session 7, Reading 24, LOSd

According to the Conceptual Framework’s qualitattharacteristics, information
that is materially misstated is not relevant; thibecause such information can
affect a user’s decisions.

Faithful representation is another qualitative elotaristic but does not discuss
the concept of materiality. Information that faitly represents an economic
phenomenon that it purports to represent is idealiyiplete, neutral, and free
from error.
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55. Arc Inc. has entered into a five-year conttaatonstruct a new production plant
on January 1, 2013 at a contract price of £63,506.estimated costs to complete
the project are £55,000. The exhibit below illasts the estimated project
completion percentage over the life of the projéct. Inc. complies with IFRS
with respect to financial reporting.

Exhibit:
Estimated Completion
Year Percentages (%)
1 20
2 15
3 5
4 40
5 20
Total 100

If the estimated loss in the second year of thgeptas $500, the profit reported
in the second year of the project using the peaggbf-completion method is
closest to:

A. £775.
B. £1,275.
C. £2,475.

Correct Answer: A

Reference:
CFA Level |, Volume 3, Study Session 8, Reading 25, LOSb
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A loss is reported in the same year it is expemgdrdless of whether the IFRS
or U.S. GAAP are being followed.

At the end of year 1, project revenues and cosa £42,700 (£63,500 x 0.20)
and £11,000 (£55,000 x 0.20) respectively. By tiek & the second year, 35% of
the project is complete and total project reverarescosts to date are £22,225
(£63,500 x 0.35) and £19,250 (£55,000 x 0.35),aetbely. Given that 20% is
already recognized, £9,525 (£22,225 — £12,700)yaépt revenues and £8,250
(£19,250 — £11,000) is respectively recognizedvendecond year.

After accounting for losses, net income generatatieé second year equals £775
(£9,525 — £8,250 — £500).

Standard-setting bodies:

A. are self-regulated organizations.

B. can recognize the standards they set.

C. exert control over entities that participate in tiapital markets of their
jurisdiction.

Correct Answer: A

Reference:
CFA Leve [, Volume 3, Study Session 7, Reading 24, LOSb

Standard-setting bodies are typically self-regdateyanizations and are
responsible for setting standards only. These Isazhenot enforce standards nor
can they recognize the standards they set; OptiandBC represent the
responsibilities of standard-setting bodies.

Regulatory authorities have the legal authoritgxert control over the entities
that participate in capital market within theirigdiction.
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Xilta, a surgical equipment manufacturer, isstoucting a new building for its
administrative staff. Total construction costs antdo $450,000. Xilta has
acquired a three-year loan at an interest raté&wofdfinance the construction.
Only 5% of the loan proceeds are required for tfs¢ few months and so the
company invests the remaining proceeds at an ammeatst rate of 5% for eight
months.

Ignoring any compounding effects, the total amaafnihterest to be capitalized
under:

IFRS? U.S. GAAP?
A. $12,750 $27,000
B. $66,750 $81,000.
C. $81,000 $81,000.

Correct Answer: B

Reference:
CFA Level |, Volume 3, Study Session 8, Reading 30, LOSa

Under IFRS any income earned on temporarily inngsthe borrowed funds is
deducted from the amount eligible for capitalizati®his is not the case for U.S.
GAAP where the full amount of interest expenseasitalized.

Interest income = $450,000 x 0.95 x 5% x 8/12 =23a
Amount of interest eligible for capitalization (IBR= ($450,000 x 6% x 3) —
$14,250 = $66,750

Amount of interest eligible for capitalization (U.SAAP) = ($450,000 x 6% x 3)
= $81,000

Which of the following items wilinost likely be higher if a lease is operating as
opposed to financing in nature under U.S. GAAP?

A. Total asset turnover
B. Financing cash outflows

C. Net income in the later years

Correct Answer: A
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Reference:
CFA Level |, Volume 3, Study Session 9, Reading 32, LOSh

Total asset turnover will be higher if a leaseeigarted as operating. This is
because, unlike finance leases, the associateed@aset is not reported on the
balance sheet. With a lower total assets balahiseréported measure is higher
when leases are operating in nature.

The net income reported in the later years of sddéarm is higher when leases
are financing in nature; this is because the sudepfeciation charges and
interest expenses is lower relative to the rentdlen operating leases. A major
part of the asset has been depreciated as wdledsdse liability reduced due to
lease payments reducing the lease liability repouteder finance leases.

Financing cash outflows are higher under finanesdebecause the portion of the
lease payment that reduces the carrying amoutiedetse liability will be
reflected as a financing cash outflow rather thmoerating cash outflow. Lease
rentals are reported as operating cash outflowsnmpkrating leases.

The exhibit below illustrates selective finabténformation for Hoarce Inc. for
the fiscal years 2012 and 2013.

Exhibit
2013 2012
Total assets $500,000 $615,000
Current assets $120,000 $100,000
Current liabilities $105,250 $95,000
Revenue $45,850 $51,200
Total equity $325,000 $300,000

Based on the information presented above, whid¢hefollowing statements is
most likely correct? Hoarce Inc.’s:

A. efficiency has improved.
B. solvency position has deteriorated.

C. need for capital to fund current assets has ineckas

Correct Answer: A
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Reference:
CFA Level I, Volume 3, Study Session 8, Reading 28, LOSb

Measure Ratio 2013 2012
Total asset | $45,850/$500,000; $51,200/$615,000
Efficiency turnover =9.17% =8.33%
Total debt- | ($500,000 — ($615,000 —
Solvency | to-equity | $325,000)/$325,000$300,000)/$300,000
=53.8% = 105.0%

Haorce Inc.’s efficiency and solvency positionsdauproved as evidenced by
the respective increase in total asset turnoveidactine in total debt-to-equity.
A company’s need for capital to fund current assetseasured by the net
operating cycle. There is insufficient data to deiee this measure.

The use of periodic versus perpetual invensgsgems will result in the same
value for cost of sales and ending inventory usivegy

A. FIFO and LIFO method.
B. FIFO and specific identification method.
C. FIFO and weighted average cost method.

Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 29, LOSd

The use of the periodic versus perpetual inverggsgems will result in the same
value for cost of sales and ending inventory usivegspecific identification and

FIFO method of inventory valuation.

The choice of system will affect the ending inveptand cost of sales when
either the LIFO or weighted average cost methadéel.
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61. The exhibit below illustrates selective finadénformation for Thompson Walsh
for the financial years 2013 and 2014.

Exhibit
$ millions 2014 2013
Current assets 48 45
Current liabilities 50 37
Revenue 85 80

Based on the information presented in the exhitigmpson Walsh'’s efficiency:
A. has improved.
B. has deteriorated.
C. cannot be interpreted based on the informationepitesl.

Correct Answer: C

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 28, LOSb

The company’s working capital has declined to aatigg value, ($48 million —

$50 million = - $2 million), in the year 2014. Agetive working capital produces
a working capital ratio that cannot be interpreted.
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62. ARDA Associates has reported two transactionshfe financial year ending
2013. The applicable tax rate is 30%.

Transaction 1: Payment of $300,000 as advancedtéhe end of the year. Tax
authorities require advanced rent to be taxed cash basis.

Transaction 2: A company purchased machinery wit#0,000 on January 1,
2013. The useful life of the machine is 25 years #we machine is depreciated
using the straight-line method for accounting psgs Tax authorities require the
double declining method be used for depreciatiap@ses. The machine has a
zero salvage value.

Which of the following statements igost likely correct with respect to the
transactions?

A. Transaction 2 will give rise a deferred tax liayilof $1,200.
B. Transaction 2 will give rise a deferred tax liayilof $4,000
C. Transaction 1 will give rise a deferred tax liailof $300,000.

Correct Answer: A

Reference:
CFA Leve |, Volume 3, Study Session 9, Reading 31, LOSb & ¢

Transaction 1 will give rise to an asset accourggpid rent) with a carrying
amount of $300,000 and a tax base of $0; a temptagable difference will

arise which will equal $300,000. Since the carryangount of the asset is greater
than its tax base, a deferred tax liability eqoe$®0,000 ($300,000 x 30%) will
be recognized on the balance sheet.

With respect to Transaction 2, the carrying amadinhe asset at the end of the
fiscal year 2014 is $96,000 [$100,000 — ($100,0825,000)/4] while the tax
base is $92,000 [$100,000 — (1/25 x 2 x $100,000) will give rise to a
deferred tax liability of $1,200 [($96,000 — $9200& 30%].
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63. Dale Buchanan is a credit analyst evaluatiegiibt repaying ability of two
companies in the same industry, Rax Limited and.H&le exhibit below
includes selective financial information with respt the two companies.

Exhibit

Rax Limited Halt
Operating earnings 45 30
Interest payments 12 13
Total debt 35 25
Total equity 120 108

Which company demonstrates a greater ability teisedebt?

A. Halt Limited due to lower financial leverage.
B. Rax Limited due to lower interest payments.
C. Rax Limited due to a higher interest coverage ratio

Correct Answer: C

Reference:
CFA Level |, Volume 3, Study Session 9, Reading 32, LOSI

All $ figures are in millions

Based on the information presented, the abilitgithfer company to service its
debt is measured by the interest coverage ratief@ipg earnings or
EBIT/interest payments).

Rax Limited (Interest coverage ratio) = $45/$12.753

Halt (Interest coverage ratio) = $30/$13 = 2.31

Although lower interest payments serve to reducerapany’s interest coverage
ratio, it is not a direct measure of debt repaynoap@bility.

The leverage ratio measures the degree of finanskaln a company’s capital
structure and is not relevant in measuring deldayeent capability.
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64. The exhibit below demonstrates inventory vassessments for Targer Limited
for the fiscal year ended December 31, 2012. Opalsr2, 2013 the inventory
was revalued.

Exhibit: Inventory Value Assessments (2012-2013)

Carrying value — January 1, 2012 £100,000
Market value — July 13, 2012* £85,000

Carrying value — December 31, 2012 £80,000
Revaluation — January 2, 2013 £110,000

*Market value is equal to the net realizable value
On the date of revaluation, the inventory will\iadued at an amount equal to:

A. £80,000.
B. £105,000.
C. £110,000.

Correct Answer: B

Reference:
CFA Leve [, Volume 3, Study Session 9, Reading 29, LOSf

On July 13, 2012 the inventory was written dowit¢anarket value of £85,000
and an impairment loss of £25,000 would have beearded on the income
statement. On the date of revaluation, the inveritmreased by £30,000
(£110,000 — £80,000) in value. However, the upwassialuation will be limited
to the impairment loss; thus inventory will be veduat £105,000 (£80,000 +
£25,000) on January 2, 2013.
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On its balance sheet, ARC Limited reports @miell tax asset arising from the
different depreciation methods being used for fai@reporting and tax
purposes. After further assessment concerningdutgoverability, ARC Limited
reduces the carrying amount of the asset usinduatan allowance.

At the end of the financial year Lindsay Smart seases the valuation allowance
and determines that any uncertainty concerningéutecoverability has been
alleviated. Smart wilimost likely reverse the valuation if the firm complies with:

A. IFRS but not U.S. GAAP.
B. U.S. GAAP but not IFRS.
C. neither U.S. GAAP nor IFRS.

Correct Answer: B

Reference:
CFA Level I, Volume 3, Study Session 9, Reading 31, LOSg & |

The recognition of a valuation allowance is onlplagable under U.S. GAAP
whereby a deferred tax asset is recognized irbfitlreduced by a valuation
allowance if all or some of the deferred tax assktnot be realized. Subsequent
to initial recognition, should circumstances chasgeh that the valuation
allowance is reduced, the reversal will increaderded tax asset and operating
income.

Under IFRS, a deferred tax asset is recognizedibitlis probable the sufficient
taxable profit will be available against which teenporary difference can be
utilized; this suggests that a deferred tax asgebarecognized to the extent it is
recoverable.

Revenue from barter transactions will be messunder:
A. U.S. GAAP at the carrying amount of the asset suleesd.
B. IFRS on the basis of fair value of revenues fromilsir non-barter
transactions with unrelated parties.
C. U.S. GAAP on the basis of fair value if a compaag hot received cash

payments for such services in the past.

Correct Answer: B
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Reference:
CFA Level I, Volume 3, Study Session 9, Reading 25, LOSb

Under IFRS, revenue from barter transactions velhieasured based on the fair
value of revenues from similar non-barter transastiwith unrelated parties.

Under U.S. GAAP, revenue can only be recognizddiavalue if a company has
received cash payments for such services in thegpascan use its past
experience to determine fair value; otherwise reegnom barter transactions
will recognized at the carrying amount of the assetendered.

Qualitative characteristics that enhance tleéulisess of relevant and faithfully
represented information include information:

A. not presented in a manner so as to bias a usernsiales.

B. presented in a consistent manner across time ane&e entities.

C. which is understandable to a wide range of uselsding those with
minimal business knowledge.

Correct Answer: B

Reference:
CFA Leve |, Volume 3, Study Session 8, Reading 24, LOSd

Qualitative characteristics that enhance the usefid of relevant and faithfully
represented information include information thatasparable; this implies that
information is consistent across time and betwegties enabling users to make
comparisons more easily.

Financial reports, which are presented in such @n@aso as not to bias a user’s
decisions are said to be faithful represented;rdpsesents a qualitative (as
opposed to an enhancing) characteristic of findmefzorts.

Enhancing qualitative characteristics also includderstandability; this implies

that information is prepared for and should be wvstdedable by users who have
a reasonable knowledge of business and econonivitiast
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68. Unrealized gains or losses on available far saturities armost likely excluded
from:

A. equity.
B. netincome.
C. other comprehensive income.

Correct Answer: B

Reference:
CFA Level |, Volume 3, Study Session 8, Reading 25, LOSI

Unrealized gains or losses on available for satardges are excluded from net

income; however they are included in equity asramanent of other
comprehensive income.
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Questions 69 through 76 relate to Corporate Finance

69.

70.

Natalie Brooks is contemplating an investmarihe GR stock. She would like to
ensure that she is entitled to the first divideagirpent upon purchase. The
corporation has declares a dividend of $2.50 oreber 1. On December 3 the
share price will be reduced by the dividend perslaad the stock will trade at
the reduced price. The dividend will be paid on &aber 15.

In order to receive dividends, Brooks should pusehshares of GR stock on:

A. December 2.
B. December 3.
C. December 15.

Correct Answer: A

Reference:
CFA Level |, Volume 4, Study Session 11, Reading 38, LOSb

The ex-dividend date is the date on which sharsstfiade without the dividend.
This date corresponds to December 3. In order entided to the declared
dividend, Brooks should own shares on or purchhaees before the ex-dividend
date; that is, she should have made her purchgdeedember 2.

The exhibit below summarizes key financial hessior IAO Inc. for the years
2012 and 2013:

Exhibit
2012 2013
Degree of financial leverage 2.5 1.8
Operating income (in millions) $10.6 $11.2
Net revenues (in millions) $25.5 $20.2

Based on the information presented, the percertfagege in net income is
closest to:

A. —28.0%
B. —9.6%.
C. +10.2%.
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Correct Answer: C

Reference:
CFA Leve |, Volume 4, Study Session 11, Reading 37, LOSb

Degree of financial leverage is measured as theeptage change in net income
relative to the percentage change in operatingeco

Percentage change in net income

= DFL x Percentage change in operating income
=1.8x(11.2/10.6 - 1)

=0.101889 or 10.2%

A company’s suppliers have modified its créelims from 2/10 net 30 to 3/10 net
30. The impact of the change in credit policy wist likely:

A. increase the available cash flow.
B. lengthen the net operating cycle.
C. increase the number of days of payables.

Correct Answer: A

Reference:
CFA Leve |, Volume 4, Study Session 11, Reading 39, LOSc

A higher discount offered will prompt the companypiay off its accounts
payable more quickly. This will lengthen the neerding cycle (humber of days
of inventory + number of days of receivables — Nemtf days of payables),
decrease the number of days of payables, as wed@sase the available cash;
the latter holds true because the company will Bking payments to its suppliers
on an earlier date.
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72. The exhibit below illustrates selective finadenformation for a manufacturing
concern for the years 2012 and 2013.

2013 2012
Current ratio 0.8 1.2
Quick ratio* 0.5 0.8
Current liabilities (in millions) $30.5 $32.7
Cost of goods sold (in millions) $15.6 $18.4

*Differs from the current ratio by excluding threventory balance only.
The company’s number of days of inventory hast likely:
A. shortened by 4 days.
B. shortened by 55 days.
C. lengthened by 45 days.

Correct Answer: C

Reference:
CFA Level |, Volume 4, Study Session 11, Reading 39, LOSb

The difference between the current ratio and qrati is equal to the inventory
divided by liabilities.

2013:

Inventory/current liabilities = 0.8 — 0.5 =0.3

Inventory = 0.3 x $30.5 million = $9.15 million

Days of inventory on hand = Inventory/(Cost of gecsdld/365) =
$9.15/($15.6/365) = 214.09 days

2012:

Inventory/current liabilities = 1.2 - 0.8 = 0.4

Inventory = 0.4 x $32.7 million = $13.08 million

Days of inventory on hand = $13.08 million/($18.4lion/365) = 259.47 days

The number of days of inventory on hand has ine@éy approximately 45 days
(259 — 214).
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Karl Salone is the chief financial officer aRT Enterprises. While evaluating the
company’s liquidity position, Salone makes thedwaling observations:

Observation 1: The company routinely pays its vesgoior to the stated due
dates.

Observation 2: Following the recent deterioratio@conomic conditions,
arranging short-term borrowing is more restrictivéerms of

both availability and cost.

Observation 3: Due to technological advances inrtastry, a significant
proportion of T.R. Enterprises’ inventory has beeambsolete.

How many of the above observations reflect a dratiquidity?

0w p
W N -

Correct Answer: B

Reference:
CFA Leve [, Volume 4, Study Session 11, Reading 39, LOSa

Observation 1 reflects a pull on liquidity whilesgvations 2 and 3 reflect a drag
on liquidity.

By paying vendors prior to the stated due date, EfRerprises will forgo the use
of funds representing a pull on liquidity.

When access to capital becomes scarce, this iefedtag on liquidity.
Obsolete inventory ties up a company’s funds byeasing storage and other
interest costs; this represents a drag on liquidity
Relative to a stock dividend, a cash dividend:

A. decreases the current ratio.

B. does not affect financial leverage ratios.

C. has no economic impact on company value.

Correct Answer: A
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Reference:
CFA Level I, Volume 4, Study Session 11, Reading 38, LOSa

Cash dividends affect a company’s capital structuide stock dividends have
no economic impact on a company. Unlike cash dividea company does not
have to pay additional money when issuing stociddivds.

Cash dividends affect a company’s financial leveragios as retained earnings
(component of equity) is reduced. This increasegddgree of leverage.

Cash dividends decrease the current ratio as tin@aoy needs to pay cash for
issuing this dividend. An outflow of cash reducatsk current assets and the
numerator of the current ratio.

Bill Somers, an equity analyst, is evaluatimg $tock of Westmore Associates.
Somers has collected the following data with respethe Westmore stock and
equity market:

Exhibit:

Data Concerning the Market and Westmore AssociatesStock
Current dividend per share $3.50
Return on equity 5%
Earnings per share $7.50
Market required rate of return 8%
Risk-free rate 3%
Forecasted next period’s price per share $25.50
Current price per share $22.35

The cost of equity § using the discounted dividend model (DDMFligsest to:
A. 16.76%.
B. 18.36%.
C. 18.74%.

Correct Answer: C

Reference:
CFA Level I, Volume 4, Study Session 11, Reading 36, LOSh
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The cost of retained earnings) (is equal to the sum of the dividend yield and
sustainable growth rate.

e = D]_/PO +0
g = ROE x (1 — DIEPS) = 5% x (1 — $3.50/$7.50)6687%
re = ($3.50 x 1.026667)/$22.35 + 0.026667 = 0.1874H8074%

The code of ethics covered by the codes ofacatp governandeast likely
prohibits:

A. donating cash to management.
B. management from holding company shares.
C. a compensation package dominated by the basig/salar

Correct Answer: B

Reference:
CFA Level I, Volume 4, Study Session 11, Reading 40, LOSf

A strong code of ethics should encourage managetoérid company shares.
This will help align the interests of managemerthvghareholders and will more
than likely result in decisions being made whioh iarthe best interests of the
latter.

A strong code of ethics will prohibit the use ofporate assets by insiders for
personal reasons. This includes lending cash tders

A strong code of ethics will also prohibit compeainwa packages dominated by
the fixed basic salary. In order to incentivize @mg@ment, a greater proportion of
the compensation package should be variable afidrpemce based with a focus
on maximizing shareholder wealth.
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Questions 77 through 88 relate to Equity Investmeist

77.

78.

The market price of Yacto’s stock decreasefidbygver the financial year 2013. If
the share price at the beginning of the year was586 what dividend yield must
the company maintain to ensure total return is eguis%?

A. 3.81%.
B. 11.19%.
C. 18.81%.

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 48, LOSe

Total return = (P— R_1+ D)/P;_1

The total return can be separated into the pricenrend dividend yield.
Price return = — $2/$52.50 = — 0.03810 or — 3.8095%

Dividend yield = YP;_;

Dividend yield = 15.000% — (— 3.8095%) = + 18.8095%

A trader who purchases a global registeredeshdl most likely:
A. not need to be concerned with currency conversions.
B. be able to track the performance of the underlymaigx.
C. have an indirect, economic interest in a foreigmpany.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 48, LOSe

A trader who purchases a global registered share net be concerned with
currency conversions as the same share is quotkttaated in different
currencies.

An ETF represents a portfolio of depository receipiat tracks an index while a

global registered share represents an actual (@nidahirect) ownership interest
in a company.
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ABC Limited has reported a return on equityt, prefit margin and financial
leverage ratio of 15.0%; 0.32; and 2.5 respectivégset turnover of ABC
Limited is closest to:

A. 0.12.
B. 0.19.
C. 18.75%

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 14, Readings 49, LOS a.

ROE = Net profit margin x Asset turnover x Finahtgaerage

Asset turnover = ROE + (Net profit margin x Finehdéeverage)
=0.15 +(0.32 x 2.5) = 0.18750

Blake Associates is a financial services fiperating in a fragmented industry.
Lucas Mathews, a market analyst, determines tleasttlucture of the industry
will have implications for the company’s market shacoordination among
industry players, and price competition in the istoiy

Which of the following conclusions isost likely valid concerning industry
structure?

A. Price competition is fierce.

B. The relationship among industry players is coopezat

C. A small increase in Blake’s market share can sicguitly increase its
profitability.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 49, LOSg

FinQuiz.com © 2015 - All rights reserved. 59



81.

CFA Level | Mock Exam 6 — Solutions (PM)

A fragmented industry is highly competitive duestveral reasons. Firstly, the
large number of players makes coordination diffib@lcause there are too many
competitors for industry members to monitor effegly. Secondly, each player
has a small piece of the market’s share and aagnattto increase market share,
even by a small amount, will not bring a signifitahange to a company’s
fortunes.

An analyst has collected the following inforfroatconcerning a value weighted
index:

Beginning of End of Period
Period
Security Price ($) Shares Price ($) Shares
A 45.56 100 51.87 100
B 61.05 200 67.00 200
C 88.07 300 91.35 300

The return on the index ebosest to:
A. 6.50%.
B. 7.42%.
C. 18.51%.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 46, LOSe

The value of the index is the change in marketteépation over the period:
Beginning market capitalization = ($45.56 x 10Q61.05 x 200) + ($88.07 x
300) = $43,187.00

Ending market capitalization = ($51.87 x 100) +7$® x 200) + ($91.35 x 300)
= $45,992.00

Return = ($45,992.00/$43,187.00) — 1 = 6.50%
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A brokered market:

A. is organized as an order-driven market.
B. uses a crossing network to organize market trades.
C. is the platform for trading unique and infrequentbded instruments.

Correct Answer: C

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 45, LOS]

A brokered market is one in which brokers arramgdds among their clients.
They organize markets for which organizing a trisddifficult because
instruments are unique, infrequently traded aneXpensive.

An order-driven market is not organized for thesruments because few traders
would submit orders to brokers operating in suclhkets.

Sylvia Perez has purchased a 3-month put optittnan exercise price of $35.00
by paying $5.50. The purpose behind the optiontmase is to protect her
investment from adverse price movements. Perezwadtcise the option if the
share price:

A. rises above $35.00.
B. declines below $35.00.
C. declines below $40.50.

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 45, LOSc

A put option is exercised when the market pricéhefstock declines below the

exercise price. In Perez’s case, she will exefogeout option when the share
price declines below $35.00.
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84. The exhibit below illustrates the limit ordexdi for the Japanese equity market:

85.

Exhibit:
Japanese Equity Market’s Limit Order Book
Bid Size Limit price (¥) Offer Size
172.68 10
168.90 12
163.57 8
160.00 5
14 158.42
16 151.75
7 146.89
9 145.63

The market bid-ask spreaddesest to:
A. 1.58.
B. 16.68.
C. 27.05.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Sudy Session 13, Reading 45, LOSg

The market bid-ask spread is equal to the diffexdretween the best bid (highest
bid price) and best offer (lowest offer or ask pyicThe market bid-ask spread in
the Japanese equity market is 1.58 (160.00 — 158.42
In contrast to public equity firms, the privatguity firm:

A. operates in larger, unregulated markets.

B. management tend to focus on maximizing short-t@sults.

C. has less effective corporate governance policidspancedures.

Correct Answer: C

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 48, LOSc
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Private equity firms score lower in terms of coggergovernance effectiveness.

Since private equity firms hold investments of tielely longer holding periods,
management are better able to better manage trapany for long-term value
creation. Thus, management is able to focus ototigeterm. In the case of
public equity firms management is pressurized tm$oon short-term results.

In contrast to public equity firms, private equiityns are not subject to the
stringent regulatory requirements often imposetherformer. Furthermore,
public equity markets are much larger than priafeity markets.

In contrast to the method of fundamentalsntieéhod of comparables:

A. does not consider the future.
B. is based on the law of one price.
C. is more sensitive to assumptions.

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 50, LOSg

The method of comparables is based on the law @foice; identical assets
should sell for the same price.

A failure to consider the future is a criticism @&dnat price multiples in general.
Multiples calculated from trailing or current vatuef the divisor do not consider
the future whereas forward price multiples do.

The method of fundamentals is sensitive to therapsions used as it depends on
cash flow forecasts or discounting to present vatevever, the method of
comparables involves comparing the price multiplthe subject company to a
benchmark and so is not sensitive to assumptices. us
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87. Gem Inc. has paid a dividend of $4.55 in theent year. From next year
onwards, annual dividend will grow at an indefimate of 2%. The company’s

shareholders require an 8% return to compensatédaisk associated with
equity shares. The intrinsic value of the stocsl @sest to:

A. $75.83.
B. $77.35.
C. $78.90.

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 14, Reading 50, LOSe

Do(1+g) $4.55(1+0.02)
7 yr—g ~ 0.08-002 $77.35

Lockwood Associates is a recently establishehtial services firm. The
company will not be paying its shareholders dividieem the near future due to
insufficient profits. The date for initiating divethd payments is highly uncertain.

88.

Which model will bemost suitable for valuing the intrinsic value of company

stock?

A. Free cash flow model
B. Gordon growth model
C. Dividend discount model

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 14, Reading 50, LOSf
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Given that the company is not currently paying digvids and is not expected to in
the near future, a free cash flow model is the mpstmal model to use for
valuing the intrinsic value of Lockwood’s stock.

The Gordon growth model is unsuitable becausenéegdly assumes a perpetual
dividend growth rate. Lockwood Associates doespaytdividends and so this
model is unsuitable for valuing the company’s stddke dividend discount
model assumes that the company is paying dividandsso is also unsuitable for
valuation purposes.
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Questions 89 through 94 relate to Derivatives

89.

90.

Which of the following derivative instrumentstails default risk which is from
the short to the long only?

A. Swaps
B. Options
C. Forwards

Correct Answer: B

Reference:
CFA Leve 1, Volume 6, Study Session 17, Reading 57, LOSc

In contrast to forwards and swaps, where eithelymaruld default to the other,
default risk in options is one-sided. The optioydrhas no further obligations
beyond the payment of the premium upon contadation. However, the seller is
obligated to deliver if the buyer exercises thamptTherefore, the seller could
default to the buyer.

Which of the following statement®st accurately describes margin in securities
and futures markets?

Margins in:
A. futures markets are set by federal regulators.
B. securities markets magnify the gains and lossemanvestment.
C. securities and futures markets serve to reducarttaunt required for
investment.

Correct Answer: B

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 59, Pages 82-83, LOSc
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Margin in securities markets is viewed as a loashiarused to reduce the amount
of funds required for investment. Margin is alsewed as gearing and maximizes
the percentage gains and losses to an investor.

Margin requirements are set by clearinghousesturés markets and by federal
regulators in securities markets.

Margin in the futures markets is viewed as a fofraadlateral. When a trader
enters into a futures market, (s) he must depositgm; however the remaining
amount is not borrowed.

Which of the following factors will have timaost significant and positive impact
on call option prices where the underlying is nowafcial in nature?

Increase in:
A. volatility.
B. interest rates.
C. underlying cash flows.

Correct Answer: A

Reference:
CFA Leve 1, Volume 6, Study Session 17, Reading 58, LOSk

Volatility has a significant impact on option pricéAn increase in volatility will
increase call option prices because it increastspgmssible upside and downside
values of the underlying (a positive impact).

Interest rates do not have a significant impaabtion prices when the
underlying is non-financial in nature (for examplee underlying is not a bond or

interest rate).

Since the underlying price is reduced by the priegalne of cash flows, an
increase in cash flows will reduce the lower booh&uropean call option prices.
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92. Jacqueline Rogers holds shares with a currartehprice of $25 and would like
to protect her investment from a decline in valslee undertakes a protective put
strategy by purchasing 6-month options sellingii55 each with an exercise
price of $22. On the expiration date of the optjadhe market price declines to
$20.

The breakeven price of the share at expiratiahosest to:
A. $22.55.
B. $24.55.
C. $27.55.

Correct Answer: C

Reference:
CFA Level 1, Volume 6, Study Session 17, Reading 59, LOSb

Breakeven price = (§ = Sp + pp = $25 + $2.55 = $27.55
93. Consider a put option selling for $4 in whible £xercise price is $34 and the
price of the underlying is $36. If the price of tinederlying at expiration is $37,
the profit for the option seller idosest to:
A. 0
B. $4
C. $7

Correct Answer: B

Reference:
CFA Leve 1, Volume 6, Study Session 17, Reading 59, LOS a

Put value at expiration: —p=-max(0, X - $ =-(0,34-37)=0
Profit for put seller = - p+p=-0+4=%4

94. Over the counter derivatives are:
A. subject to the risk of default.

B. are guaranteed against default through the clelaoungg.
C. are guaranteed against decrease in value throegtigaringhouse.
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Correct Answer: A

Reference:
CFA Leve 1, Volume 6, Study Session 17, Reading 57, LOSa

Option A is correct. Over the counter derivatives subject to a greater risk of

default while exchange traded derivatives are gquaeal against default through
the clearinghouse.
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Alex Cunningham is comparing three fixed-incareurities held in his
investment portfolio. He would like to determine tissue offering the highest
interest yield. Details regarding the three isaaressummarized in the exhibit

below:
Exhibit:
Details Concerning Fixed Income Issues
A B C

Full price per 100 of par value $98.85 $99.7( $303.
Accrued interest $5.40 $3.10 $2.85
Coupon rate 3% 2% 3%
Coupon payment frequency Annually Quarterly  Senmiteatly

Which issue offers the highest interest yield?

0wy
O W >

Correct Answer: A

Reference:

CFA Level I, Volume 5, Study Session 15, Reading 53, LOSf

Interest yield = Coupon payments/Flat price

Flat price = Full price — accrued interest

Interest yield (A) = $3/($98.85 — $5.40) = 0.032103.2103%

Interest yield (B) = $2/($99.70 — $3.10) = 0.020704£.07040%
Interest yield (C) = $3/($103.30 — $2.85) = 0.029B6r 2.98656%
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A 5%, fifteen-year callable bond issue is piie€ 98.56 per 100 of par value at
the time of issue. The par value of each bond J8GKL The bond is first callable
on December 31, 2018 at a price of 105.34 of plarevd hereafter, call prices
will steadily decline being equal to 103.45 in ylear 2019 and finally declining
to 100 in 2020, the year of maturity.
The call premium in 2018 dosest to:

A. $1.44.

B. $34.50.
C. $53.40.

Correct Answer: C

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 51, LOSf

Call premium = Price paid above par when the bsrfdst called
Call premium (2018) = ($105.34 — $100)/100 x 1,60853.40
A deferred coupon bond:

A. isissued at a premium to par.

B. permits in kind interest payments.

C. provides tax advantages to the issuer.

Correct Answer: C

Reference:
CFA Leve |, Volume 5, Study Session 15, Reading 53, LOSd

Deferred coupon bonds are issued at a discourdrtolpey provide tax
advantages if the issuer is able to delay the tdweson interest income, which is

typically first paid a few years after bond issuanc

A payment in kind bond gives the issuer the optampay interest in kind or in
cash or a mixture of the two.
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98. Karl Tatsimo invests in two bond issues; a txw@af, 5.00% semi-annual coupon
payment corporate bond priced at 95.67 per 10@o¥alue and a three-year,
3.00% semi-annual coupon payment government banddpat 93.45 per 100 of
par value.

The corporate bond’s annual yield-to-maturity dfada a semi-annual basis is:

A. equal to 7.37%.
B. equal to that of the government bond.
C. lower than that of the government bond.

Correct Answer: A

Reference:
CFA Leve I, Volume 5, Study Session 15, Reading 53, LOSf

The corporate government bond’s yield stated cenai-ennual basis is higher.
Corporate bond’s annual yield-to-maturity quotedassemi-annual basis is
7.368% (3.684% x 2) or 7.37%:

95.67 = 25 + 25 + 25 +102.50 [ = 3.684%

@er) @er) @) @)t

The government bond’s annual yield-to-maturity @dodbn a semi-annual basis is
5.394% (2.697% x 2):

93.45 = 15 N 15 + 15 + 150 N 150 +10150 [ = 2697%

@er) @er) @er) @) @) @)

99. Fixed-income securities that are issued withagurity of less than one year are
most likely known as:

A. Eurobonds.
B. money market securities.
C. capital market securities.

Correct Answer: B

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 52, LOSa
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Fixed-income securities with a maturity of lesstlome year are known as money
market securities. Fixed income securities withadurity exceeding one year are
known as capital market securities.

Eurobonds are used to classify bonds by currenogrdeation as opposed to by
maturity.

100. In the event of company default, the debtgmtethat will rank the highesst:
A. first lien debt.
B. second lien debt.
C. senior unsecured debt.

Correct Answer: A

Reference:
CFA Level |, Volume 5, Study Session 16, Reading 56, LOSb

In the event of default, senior debt will rank heglthan subordinated debt.
Within senior debt first lien debt holds a highanking relative to second lien
debt.
101. Arrisk of relying on credit agency ratirigast likely include that they:
A. may be fallible.
B. overestimate event risk.
C. tend to lag bond prices and credit spread movements

Correct Answer: B

Reference:
CFA Leve I, Volume 5, Study Session 16, Reading 56, LOSd
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Risks in relying on agency ratings include:

» they may be fallible; historical events have canéd that ratings agencies
did not see the accounting fraud being committeddsgpanies.

» Idiosyncratic or event risk is difficult to anti@fe and capture.

» Ratings tend to lag market pricing of credit. Bgmates and credit
spreads tend to move more quickly due to changpsriceived
creditworthiness than changes in the credit ratings

102. The Jameson Foundation has a fixed incomé&portomprising of three
corporate bonds, A, B and C. The exhibit below samines details concerning
the fixed income portfolio:

Exhibit
A B C
Annual modified duration 3.4 7.8 12.3
Annual modified convexity 12.2 16.9 23.8
Price per par value 92.34 95.78 99.3

If the yield changes by 50 basis points, the sgcthiat will exhibit the greatest
percentage price change is:

o>
Ow>»

Correct Answer: C

Reference:
CFA Level I, Volume 5, Study Session 16, Reading 55, LOSh
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Bond C exhibits the greatest absolute percentage pnange of 6.1203%.
%APV ™' = (- AnnModDur x AYield) + E x AnnConvexity x (AYIdd)Z}

%APV,™ = (- 34%0.0050) + E x 122 % (0.0050)2} =-0.016848
%APV,™ = (- 7.8x0.0050) + B x 169 x (0.0050)2} = -0.03879

%APV, ™' = (-123x0.0050) + E x 238x (0.0050)2} =-0.061203

103. Which of the following prices isost likely quoted by dealers?

A. Clean price
B. Matrix price
C. Invoice price

Correct Answer: A
Reference:

CFA Leve I, Volume 5, Study Session 15, Reading 53, LOSd

The clean price is quoted by dealers. This pricdss known as the flat price or
quoted price.

The full price or invoice price is the price paigthe buyer and received by the
seller on the settlement date.
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104. Based on the information provided in the eittiblow, Tower Two Inc.’s
interest coverage dosest to:

Exhibit
$ ‘000s
Gross profit 2,450
Operating expenses 950
Operating income 1,500
Interest expense 85
Interest income 20
Depreciation and amortization 320
A. 17.65x.
B. 21.41x.
C. 28.00x.

Correct Answer: B

Reference:
CFA Level I, Volume 5, Study Session 16, Reading 56, LOSf

All $ calculations are in thousands.
Interest coverage ratio = EBITDA/Interest expense
EBITDA = Operating profit + Depreciation and ampation
Interest coverage ratio = ($1,500 + $320)/$85 A PA.
105. Relative to an option-free, a putable bond mst likely:

A. trade at a higher yield.

B. trade at a higher price.

C. is associated with a higher reinvestment risk.

Correct Answer: B

Reference:
CFA Level I, Volume 5, Study Session 15, Reading 51, LOSf
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Putable bonds can be exercised if interest radesafier the issue date, thus
depressing the bond price. Bondholders can pubdhe back to the issuer and
get cash. This cash can be reinvested to earm afratterest in line with the
higher market interest rates; this will also sdo/éwer reinvestment risk.

Since the put provision has value to bondholdéesprice of a putable bond will
be higher than the price of an otherwise similarissued without the put
provision. Similarly, the yield on a bond with atguovision will be lower than
the yield on an otherwise similar non-putable bond.

Putable bonds have lower reinvestment risk reldbveption-free bonds (see
above).

An investor purchases a 2-year, 10% annugaopayment corporate bond at a
market discount rate of 5%. The forward curve foe-gear rates is demonstrated
in the exhibit below:

Exhibit
Time period Forward rate
Oyly 1.0535%
lyly 2.7984%
2yly 3.0367%
3yly 4.7842%

Using the forward rates, the price of the corpobated per 100 of par value is
closest to:

A. $109.30.
B. $113.32.
C. $115.78.

Correct Answer: C

Reference:
CFA Leve I, Volume 5, Study Session 15, Reading 53, LOSh
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Firstly, spot rates for the first three years neede determined.
The implied one-year spot ratg )iz 1.0535%
The two-year implied rate {gis 1.9222%:

(1 + 2)? = [(1+ 1.0535%) x (1 + 2.7984%)] = [(1.0105) x(q280)]
(1 + 2)°=1.0388

(1 +2)=1.0192

7, = 0.019222 or 1.9222%

Price of the bond = 10 110

+ > =115.7858
(1.01053§ (1.01922)
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Questions 107 through 112 relate to Alternative Ingstments

107. The exhibit below illustrates real estate aatn data collected by Simone Irk, an
investment analyst. The data collected by Irk comeeeal estate investment
trusts (REITs). The analyst would like to emploghigect capitalization approach
when comparing the relative valuations of the tHiR&#Ts (A, B and C).

Exhibit:
Valuation Data Concerning REIT A, B, and C

Net Gains Recurring
REIT Funds from| from Sales Capital Capitalization
operations | of Real Estate Expenditures Rate
A $35,000 $4,200 $12,000 5%
B $80,000 $12,400 $28,000 8%
C $75,000 $9,900 $33,500 6%

Using adjusted funds from operations (AFFO), théTREith the highest
valuation is:

oW
Ow»

Correct Answer: C

Reference:
CFA Leve 1, Volume 6, Study Session 18, Reading 60, LOSe

AFFO = Funds from operations + recurring capitglenditures
Value = AFFO/Capitalization rate

Value (REIT A) = ($35,000 — $12,000)/0.05 = $46@,00
Value (REIT B) = ($80,000 — $28,000)/0.08 = $650,00

Value (REIT C) = ($75,000 — $33,500)/0.06 = $69%,66
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Themost suitable measure for evaluating the performanadtefnative
investments, in general, is the:

A. Sharpe ratio.
B. Sortino ratio.
C. value added risk (VAR).

Correct Answer: B

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSg

There are several performance evaluation issuesiastsd with alternative
investments with one being that they do not eximbitmal distribution of returns
and so standard deviation cannot be used as maakure. Investment returns
can be leptokurtic and negatively skewed which iregudownside risk measures
to be used such as the Sortino ratio. This rats a®wnside deviation rather than
standard deviation to measure the probability tiwagortfolio return will fall

below some minimum acceptable return.

The Sharpe ratio is an inappropriate risk-returasnee for the reason that it uses
standard deviation in its denominator. Similarl AR when calculated using
standard deviation will underestimate the VAR faregatively skewed return
distribution.

When commodity futures prices are higher st prices, the futures market is
said to be in a state of:

A. contango and the convenience yield is low.
B. contango and the convenience yield is high.
C. backwardation and the convenience vyield is low.

Correct Answer: A

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSe

When commodity futures prices are higher (loweantspot prices, the futures

market is said to be in a state of contango (bao#ateon) and convenience yields
are low or negligible (high).
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110. The characteristics that make a company péatly attractive as an LBO target
least likely include a firm:

A. with depressed stock price.
B. that is inefficiently managed.
C. with weak & unsustainable cash flows.

Correct Answer: C

Reference:
CFA Level 1, Volume 6, Study Session 18, Reading 60, LOSe

The characteristics that make a company partiguédttactive as an LBO target
include:

» undervalued/depressed stock price
* willing management

» inefficiently managed companies

» strong and sustainable cash flows

111. A hedge fund with $120 million of initial insnent, 2-20 fee structure and a
hurdle rate of 5%, earned 35% return at year esduming management fee is
based on assets under management at year endcantive fee is calculated net
of management fee and is based on return in ex¢¢lse hurdle rate, an
investor’s net return in $ termsadkosest to:

A. $15.12 million
B. $27.40 million
C. $32.88 million

Correct Answer: C

Reference:
CFA Leve 1, Volume 6, Study Session 18, Reading 60, LOSf
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Management Fees = $120 million x 2% = $2.4 million

Hurdle rate = $120 million x 5% = $6 million

Incentive Fees = ($162 — $120 — $6 — $2.4)millioR0% = $6.72 million
Total Fees = $2.4 million + $6.72 million = $9.12lan

Investment Return in $ terms = ($162 -$120 -$9.118m = $32.88 million

. 162 —$120 —$9.12 illi
Investment Return in % terms@= i $ - Jmillion _ 27.40%
$120 million

An analyst listed the following characteristaf alternative investments as an
asset class in general.

Less transparency

High level of regulation

Narrow manager specialization

Potentially problematic historical risk and retuaiaita

PwbdE

How many characteristics he identified correctly?

oOw >
A WN

Correct Answer: B

Reference:
CFA Leve 1, Volume 6, Study Session 18, Reading 60, LOS

The characteristics common to nay alternative itmeats include:

 llliquidity of underlying investments

* Narrow manager specialization

» Low correlation with traditional investments

* Low level of regulation and less transparency

* Limited and potentially problematic historical riakd return data
* Unique legal and tax considerations
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Questions 113 through 120 relate to Portfolio Managment

113. Maxine Carrell, a university professor, mauefollowing statements during a

114.

lecture:

Statement 1:“The capital allocation line joins tpgimal risky portfolio and the
risk-free asset.”

Statement 2:“The portfolio of an optimal investausthlie on the capital
allocation line.”

Carrell ismost likely correct with respect to:
A. Statement 1 only.
B. Statement 2 only.
C. Statement 1 and Statement 2.

Correct Answer: C

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 42, LOSg

Carrell's both statements are correct.
The capital allocation line joins the optimal rigggrtfolio and the risk-free asset.
The portfolio of an optimal investor must lie oretbapital allocation line.
If an investor is opting for an investmenatgy that offers guaranteed outcome,
then such an investor withost likely be classified as:

A. risk seeker.

B. risk averse.

C. risk neutral.

Correct Answer: B

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 42, LOSd
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If an investor is opting for an investment stratéggt offers guaranteed outcome,
then such an investor will be classifiedres& averse.

115. In contrast to open-end funds, a disadvardgégersesting in closed-end funds is
that they:

A. have a limited ability to grow.

B. charge fees for investing in and redeeming fronTuine.

C. may require the manager to liquidate assets fotingeeedemptions at a
point in time when least desirable.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 41, LOSe

Closed-end funds have a limited ability to growislis because these funds do
not accept money for investment into the fund. Niewestors invest in the fund
by buying existing shares and investors liquidatediling existing shares. Thus,
the number of outstanding shares does not change.

Load funds, another classification for mutual functgarge investors fees for fund
investment and redemption.

A disadvantage of open-end funds is that the asaatger will need to sell assets

to meet fund redemptions. However, this may coneetahe when the investor
may not want to redeem from the fund.
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116. The exhibit below summarizes data concernimgial returns, annual standard
deviation and betas for an investor’s two asseff@a. The portfolio’s expected
return is equal to 15%.

Exhibit:
Annual Annual Standard
Asset | Return (%) | Deviation (%) Beta
A 14 10 15
B 18 16 0.9

The amount invested in both assets is respectolesgst to:

Asset A: Asset B:
A. 17% 83%
B. 42% 58%.
C. 75% 25%.

Correct Answer: C

Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 42, LOS a

75% is invested in Asset A and 25% in Asset B wheyes weight of Asset A
and ws = weight of Asset B in the portfolio.

15 = (14) (w) + (18)(1 — w¥)

wa = 0.75
wg=1-0.75=0.25
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117. Mitchell Young holds an investment portfolimngprising two equity securities, A
and B. The portfolio is equally invested in the teexurities. The exhibit below
summarizes annual risk and return data concernmuny’s portfolio:

Exhibit
Security| Annual Annual Standard
Return (%) | Deviation (%)
A 22 17
B 16 13

If the covariance of returns between the two séegris — 0.0157, the correlation
between the two securitiesd®sest to:

A.—-0.71.
B.-0.44.
C.+0.19.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 42, LOSc

COVRA,RB = Pr,.r, 908

Do = 20157 _ 4710407
~F 7 0.17x0.13

118. The slope of the capital allocation line (CAd.neasured using the:
A. Sharpe ratio.
B. Treynor ratio.
C. information ratio.

Correct Answer: A

Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 43, LOSb & h
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With total return on its y-axis, the risk-free ratlereturn as the intercept, and total
risk (standard deviation) on its x-axis, the slopéhe CAL is the Sharpe ratio.

119. The exhibit below summarizes risk, return baeth information concerning the
Lightman Foundation’s investment portfolio.

Exhibit:
Annual Standard Weight in

Stock | Deviation (%) | Beta | Portfolio (%)

A 23.5 15 25

B 9.4 0.6 30

C 8.5 1.1 10

D 125 0.3 35
Total 100

Based on the information presented, portfolio liethosest to:
A. 0.14.
B. 0.77.
C. 0.87.

Correct Answer: B

Reference:
CFA Level 1, Volume 4, Study Session 12, Reading 43, LOSe

Portfolio beta = (0.25)(1.5) + (0.30)(0.6) + (0.@}) + (0.35)(0.3) = 0.77
120. Tactical asset allocation:
A. focuses on adding portfolio value in the short-run.
B. deviates from policy exposures to nonsystematicfestors.
C. selects securities with an expected return highean the asset class
benchmark.

Correct Answer: A

Reference:
CFA Leve 1, Volume 4, Study Session 12, Reading 44, LOSg
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Tactical asset allocation involves a deliberataatexn from the policy exposures
to systematic risk factors with the objective ofliad) value from forecasts of
near-term returns of those asset classes.

Security selection involves selecting securitiesicly have a higher expected
return than the benchmark for the purposes of esihgrportfolio return.
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